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Answer all questions.
List down the issues in hexical analysis phase.

Name the tool for spec1fy1ng 1ex1cal analyzer and draw a block schematic diagram of its
functioning. '

What are problems encountered in recursive: descent parsers ? How are they eliminated ?

Define a context free grammar. Write a context free grammar to generate pahndromes using
the set of {a b}:

Write the syntax directed deﬁmtmn for constructmg a syntax tree of an expression,
Explam activation free with suitable example o o &
Distinguish: between triplesand mdn:ect tnples representation of three-address statementq
Explain the process of code motion with example. -

. ‘ . (8 x 5 = 40 marks)
Consider the following while statement :

While A>B & A<=2*B-56do

A=A+B;

Write down the outputs generated at each phase of the compiler and briefly dlscuss how the
outputs are generated.

Or
Construct a minimum-state DFA for the regular expression (q/ .b)-‘ abb (alb)’.

Construct an SLR parsing table for the following grammar :

S — xAy/xBy!xAz
A —aSlq
B-g.

Or

(b) (1) Explain the predictive parsing algorithm. ' A (8 marks)

(i) Write the rules for finding the first and follow elements for a grammar. (7 marks)
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Wnte the a.lgonthm to design a pred1ct1ve translator. Explain the algorithm with suitable
example

¢ Ores v
Explan the static storage allocation strategy with sultable example
erte and explain the syntax-duected definition for four dlfferent flow of control statements
Or

Explain the various issues in the design of a code generatqr;
' ; (4 x 15 =60 marks)



